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JBGZ  No. BFZ iRA -G $v97 b ek YL e
1 4609 #K HE L1 1-1 =] 1:53.25 0.00

2 4607 A fEM ZX 1-2 & 1:53.35 0.10

3 4614 EE BE AiEES 1-3 Pin 1:53.82 0.57

4 4601 Wi ER KSC 1-4 = 1:53.92 0.67

5 4603 thEA#KKKRTE higE 1-5 £ 1:54.36 1.11

6 4605  ®iIE hiZiE 2-1 =] 1:57.39 4.14

7 4602 FER WA HLITS 2-2 2 2:05.52 12.27

8 4612 IR #pE Z2)Idt 2-3 Din 2:06.37 13.12

9 4608 #EH #X ZX 1-6 P 2:06.61 13.36

10 4611 &R R4t A 22 34 2-4 = 2:12.72 19.47

11 4615 K& BhzxE AEAE 2-5 = 2:12.99 19.74

12 4616 #H & AEAS 2-6 % 2:23.12 29.87

13 4606 Bl EXR EJ 2-7 #* 2:26.14 32.89
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